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(2)

(b) “India needs an evergreen rainbow
revolution.” Elaborate.

“yrE W) TF GEEET FRUTH Wit H T
2" famw AR
(c) What is the significance of micro and

small enterprises in the Indian
economy? :

¥

(d) Suggest measures for the elimination of
black money. :

e g ¥ P & foe YA H g

(e) Highlight the main causes of regional
disparities in India.
st SRR e % g FO B HE
$ifm)

@ ‘It is not the question of ,vc.dmo or
private sector, but of an efficient
sector.” Explain. |
e Tt a1 Bt & w1 7, aRg T
&3 w1 31 EEER

. How Svoca. you like to designate the present

Indian .oooboawluﬁb@n,\&o@ma. under-
developed, developing  or . emerging?
Elaborate.
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( Continued )
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. “Analyse ‘the agricultural ‘policy ‘of 'India

‘keeping in view the growing incidence of
suicides by farmers. Give. suggestions for
improvement in Indian agriculture.

P g T e gk % waf # i B

i AR 1 e el s B A g

. While comparing the features of pre- and

post-reform 5&5%3& policies * of India,
‘examiné the present trends. Are we on the
right path? R v , (
wra & guR-d ﬂﬁzhﬂﬂ%&m&%
ity T € v o A w6 @ ¥

. Do ,%oc agree that 95553 mcv,v.oﬁ price

and administered prices contribute to
inflation in a major way? How would you
term this kind of inflation—demand-pull or
cost-push?. u ’ ,
Rl & =g e g5 e yefE fwal
e Fewqet WA TR A I 3e wEa &7 W
qarebi at-afie weeTd ¥ A ArE-sa?

. Enumerate the major heads of revenue and

expenditure of the Central budget. Also
distinguish between revenue fiscal and
primary deficits. Is deficit always harmful?
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( Turn Over )
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